Project Name Well No. 97 Replacement Spec. No. WW22-01 Abstract of Bids opened on Jan 18, 2023

ENGINEER'S ESTIMATE: 2,191,660.00

LOW BIDDER - Best Drilling and Pump Colton, CA 92324	2,066,546.00
2nd Bidder - Pacific Coast Well Drilling Templeton, CA 93465	2,289,000.00
3rd Bidder - Nor-Cal Pump & Well Drilling, Inc. Yuba City, CA 95993	2,396,076.00
4th Bidder - Zim Industries, Inc. Fresno, CA 93725	2,612,574.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and

were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Homer Arredondo

	pened on Jan 18, 2023	1		ENGINEER'S	ESTIMATE	LOW BIDDER		2nd Bidder	
Project Name Well No. 97 Replacement						Best Drilling and Pump		Pacific Coast Well Drilling	
						1640 W. Pellisier F	Rd.	P. O. Box 184	
						Colton, CA 92324		Templeton, CA 934	465
	Spec. No. WW22-01								
ITEM									
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization and Demobilization	LS	1	200,000.00	200,000.00	250,000.00	250,000.00	213,834.00	213,834.00
2	Conductor Casing	LS	1	49,500.00	49,500.00	80,000.00	80,000.00	70,000.00	70,000.00
3	Pilot Bore Drilling	LF	1400	130.00	182,000.00	185.00	259,000.00	198.00	277,200.00
4	Geophysical Logging	LS	1	5,500.00	5,500.00	6,000.00	6,000.00	9,900.00	9,900.00
5	Reaming Pilot Bore	LF	1350	110.00	148,500.00	175.00	236,250.00	225.00	303,750.00
6	Caliper Log	LS	1	3,300.00	3,300.00	2,500.00	2,500.00	6,500.00	6,500.00
7	18in LCS Blank Casing (0.375in wall)	LF	720	250.00	180,000.00	185.00	133,200.00	135.00	97,200.00
8	18in to 16in LCS Casing Reducer	LS	1	5,060.00	5,060.00	4,000.00	4,000.00	3,100.00	3,100.00
9	16in Dissimilar Metal Adaptor	LS	1	13,640.00	13,640.00	11,000.00	11,000.00	11,150.00	11,150.00
10	16in SS Blank Casing (0.375in wall)	LF	130	710.00	92,300.00	532.00	69,160.00	460.00	59,800.00
11	16in SS Well Screen (0.060 slot)	LF	460	620.00	285,200.00	476.00	218,960.00	470.00	216,200.00
12	Entrance Chute 4in x 6ft	LS	1	24,200.00	24,200.00	19,000.00	19,000.00	17,500.00	17,500.00
13	4in Sounding Tube	LF	753	390.00	293,670.00	112.00	84,336.00	90.00	67,770.00
14	3.5in OD Gravel Feed Tube	LF	802	280.00	224,560.00	65.00	52,130.00	60.00	48,120.00
15	Centralizers (18 Sets)	EA	18	190.00	3,420.00	120.00	2,160.00	112.00	2,016.00
16	Gravel Pack Envelope	LF	660	110.00	72,600.00	92.00	60,720.00	95.00	62,700.00
17	Cement Sanitary Seal	LF	740	110.00	81,400.00	73.00	54,020.00	114.00	84,360.00
18	Well Alignment	LS	1	5,500.00	5,500.00	8,000.00	8,000.00	4,850.00	4,850.00
19	Swab and Bail Development	HR	23	990.00	22,770.00	900.00	20,700.00	1,050.00	24,150.00
20	Swab and Ailift Development	HR	31	990.00	30,690.00	1,200.00	37,200.00	1,450.00	44,950.00
21	Test Pump Installation and Removal	LS	1	44,000.00	44,000.00	30,000.00	30,000.00	65,000.00	65,000.00
22	Hydraulic Well Develoment	HR	32	550.00	17,600.00	800.00	25,600.00	500.00	16,000.00
23	Production Testing of Well	HR	32	550.00	17,600.00	800.00	25,600.00	500.00	16,000.00
24	Disinfection of Well	LS	1	4,400.00	4,400.00	10,000.00	10,000.00	15,000.00	15,000.00
25	Video Survey	LS	1	2,750.00	2,750.00	2,500.00	2,500.00	3,500.00	3,500.00
26	Surface Casing/Sounding Tube Mod	LŞ	1	5,500.00	5,500.00	10,000.00	10,000.00	25,000.00	25,000.00
27	Destroy Existing Well No. 97	LS	1	38,500.00	38,500.00	45,000.00	45,000.00	41,500.00	41,500.00
28	Mud and Cuttings Disposal and Site Clean-Up	LS	1	60,500.00	60,500.00	250,000.00	250,000.00	415,000.00	415,000.00
29	Fencing	LS	1	27,500.00	27,500.00	20,000.00	20,000.00	39,950.00	39,950.00
30	16in SS Blank Casing (0.25in wall)	LF	90	550.00	49,500.00	439.00	39,510.00	300.00	27,000.00
	TOTAL				2,191,660.00	₹0	2,066,546.00		2,289,000.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Homer Arredondo

Bids opened on Jan 18, 2023	3rd Bidder		4th Bidder		
Project Name Well No. 97 Replacement	Nor-Cal Pump & W	ell Drilling, Inc.	Zim Industries, Inc.		
	1325 Barry Rd.		4532 E. Jefferson A	4532 E. Jefferson Ave. Fresno, CA 93725	
	Yuba City, CA 9599	3	Fresno, CA 93725		
Spec. No. WW22-01					
ITEM					
NO. ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
Mobilization and Demobilization	388,148.00	388,148.00	451,300.00	451,300.00	
2 Conductor Casing	69,450.00	69,450.00	45,000.00	45,000.00	
B Pilot Bore Drilling	230.00	322,000.00	300.00	420,000.00	
Geophysical Logging	6,540.00	6,540.00	11,230.00	11,230.00	
Reaming Pilot Bore	200.00	270,000.00	280.00	378,000.00	
6 Caliper Log	5,400.00	5,400.00	6,000.00	6,000.00	
7 18in LCS Blank Casing (0.375in wall)	197.00	141,840.00	175.00	126,000.00	
18in to 16in LCS Casing Reducer	5,354.00	5,354.00	1,750.00	1,750.00	
16in Dissimilar Metal Adaptor	13,380.00	13,380.00	3,600.00	3,600.00	
0 16in SS Blank Casing (0.375in wall)	592.00	76,960.00	630.00	81,900.00	
1 16in SS Well Screen (0.060 slot)	533.00	245,180.00	535.00	246,100.00	
2 Entrance Chute 4in x 6ft	19,988.00	19,988.00	18,500.00	18,500.00	
3 4in Sounding Tube	130.00	97,890.00	118.00	88,854.00	
4 3.5in OD Gravel Feed Tube	92.00	73,784.00	70.00	56,140.00	
5 Centralizers (18 Sets)	159.00	2,862.00	220.00	3,960.00	
6 Gravel Pack Envelope	140.00	92,400.00	93.00	61,380.00	
7 Cement Sanitary Seal	140.00	103,600.00	80.00	59,200.00	
8 Well Alignment	6,850.00	6,850.00	14,000.00	14,000.00	
9 Swab and Bail Development	795.00	18,285.00	2,200.00	50,600.00	
20 Swab and Ailift Development	1,150.00	35,650.00	1,400.00	43,400.00	
21 Test Pump Installation and Removal	57,351.00	57,351.00	37,000.00	37,000.00	
2 Hydraulic Well Develoment	685.00	21,920.00	480.00	15,360.00	
Production Testing of Well	685.00	21,920.00	480.00	15,360.00	
24 Disinfection of Well	7,295.00	7,295.00	7,500.00	7,500.00	
5 Video Survey	2,480.00	2,480.00	2,650.00	2,650.00	
6 Surface Casing/Sounding Tube Mod	1,925.00	1,925.00	9,000.00	9,000.00	
7 Destroy Existing Well No. 97	86,462.00	86,462.00	101,000.00	101,000.00	
Mud and Cuttings Disposal and Site Clean-Up	164,812.00	164,812.00	185,500.00	185,500.00	
9 Fencing	3,500.00	3,500.00	29,000.00	29,000.00	
16in SS Blank Casing (0.25in wall)	365.00	32,850.00	481.00	43,290.00	
TOTAL		2,396,076.00		2,612,574.00	

Copies: Director PWA, PM: Homer Arredondo

Spec. No.WW22-01

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: Best Drilling and Pump, Inc.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Pacific Survey's LLC	N/A Service Based	1000014306	4456 Via Saint Ambrose, Claremont, CA 91711	Well logging. Bid Item # 4, 6, 18, 25
Barney's Hole Digging Service inc.	249291	1000025617	3252 Cherry Ave. Long Beach, CA 90807	Conductor Install Bid Item #2
United Pumping Service	617639	1000006212	14000 E. Valley Blvd. City of Industry, CA 91746	Mud and Cuttings disposal #28
Fence Factory	275524	1000003937	821 Maulhardt Ave. Oxnard, CA 93030	Fencing #29

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Spec. No.WW22-01

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: Pacific Coast Well Drilling

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Meyers Drilling	A-572254	1000010277	715 San Joaquin st. 93442	Conductor casing installation
Pacific Surveys	N/A	1000014306	4456 Via st. 91711	Logs and Surveys
Pacific Petroleum	c-61/d09 886124	1000040657	1615 Betteravia rd. 93454	Fluid and Cuttings disposal
Vermillion Construction	B-1007671	1000654714	3500 Maricopa rd. 93422	Hauling
JLS	C-61/D06 822872	1000009808	739 E. Santa Clara st. 93001	Concrete Pumping
State Ready Mix	N/A	1000821181	3127 West Los Angeles Ave 93030	Concrete supplier
Fence Factory	275524	1000003937	1606 Los Angeles Ave 93004	Fencing repair/replacment

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.